





Population A - Instructions
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Please do the next example to make sure you knov how to give the

required information.

Example 2.
3 x5 i3 equal to
A 8
B 15
C 35
D 385
E HNone of these

Are you using a calculator for this test?

Tes

Ho

Mathematics needed to
answar this guestion
wAS taught :

this year

before

never
Calculator used:

yes

no

If you merkad "No" you may ignore the "Calculator used" question

for th=z irndividual problems.
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Which of the Trlluwing sequcnzes
of numbers is .a the crider in

which they occur from Lof*t o 12
right on the nuniber line?

1

A 0;'5.-1 ifhat ic vhe value of S "
A 7

B0, -1, X

2
B 13
1

C -1, '5\ a C 15
D 17

D -1, 0, -
E Nonz of theso

Mlexandrs walked from Riverview to (<2} % (=3} is equal tu
Bridgeport, wnich are 3.1 rilcmeters

apart. During her walk she lost her

wateh, went back 1.7 kilom:tars ta find A -6
it, and then continued in the original

direction until she reached Briafeport.

How many kilometers had Alexandra B -5
walked altogether when she acrivod et
Bridgeport?
gep o -
A 1.k
hu} 3
B L.
F 6
c 6.5
D 8.2

E Hone of tliesn



In which diagram below 15 the
second Migure the image T tha
first figure under a rerlection

in a line?

S5 cm

» [ ’

b—— The trlangles shown above are

congruent. The neasures of some af

the sides and ongles are as shown.

Mong o x 7

€ — — A 52
B 55

D13

™
| ¥
-3
i






10, 1.

What is th~ vclume A =
rectangsul o box with
Simplify: Sz + 3y + 2z - by jrtericr Almensions 10 or

long, W0 o wide, and 7

A Tz + Ty high?

B 8z -2 A 27 em’

c 6zy 5 Pvoem’

D Tz -y c 140 cm?

E T= + Yy L 240 wm’
E 700 cal®

12. l.Jn 5

T
If P = LW and if P = 12 end P R I
Ls 3, then ¥ is equal to
M B0 W
A
A z ¥
B3

The 3iasgran 3liows a cerdboerd cute
c L whick his ba=a cut alccg scorme =does
end fzlded out flav. I it is foldedto
aguin “ahe che ¢ube, which two corners
D 12 will ouch corner P1?

corners @ and S
corners T and ¥

end ¥

corners W
corners T and ¥
U

H O o W e

¢ornersa and T



14,

Which of the following is a pair
ol equivalent'fractious?
’ STUDENTS IN GRADES 1,2,3, AND 4

2 2
A 8 and 3 po
20
2 2
B 6 and 3 18 /(
l 1h 16 Z IR v
c = and o L~ 74 el
[+ 1 un / ,/
g > £ 1h 7N
] B jy .
g | - I
D .3_ q <— 3 12l £ ._L._//, Z P -
5 an 15 b ? /// za b
o 10 —¥ 7 1 I S
1 b © %r 2N 72 2
Eogend g s Sl_tAal. il “
& ’f’//" kAl
6} - i -'-.;./,(_.n.-‘.-’.é,_‘_,l/"__
) B 230
A oA
=3 3 I :-'r;f_ o '{'
A
ol Bl b g d il
1 2 3 b
Grades
;ﬁ Boyxn
) Girls

Witleh of thase s a TRUF ot alepend
abeut the inTovration «havn o Lhe

grapn?

A Grade 2 is the 2nullest olass

B Gredes 2 and b hove Lhe swne
ik s of studornt s

c Grale 3 has tvice as macy
boys us girls

D Grads: b has more gicls than
boy:s

T Cronde 1 has as wanr boss as

there are pirls in drace b



2 3.
g= {1,2,3,4,5,6,7,8,%} 5 + f 15 equal to
R = {3,5,7.9;11,13}
A 2_
5= QNR 13
B J_
There are 9 elements in sel Lo
Q and 6 in set R. How many
elements are there in set 57
6
¢ [ITg)
A 16
B 11 b }{:l
1%
G T
D L . kig
£ ko
E 2

On level grourd, & boy § units
\ tull cusls a shzdow 3 units long,
0.40 x 6,38 is equal to
3 4 At the same time a nearchy veleplione

pole bS5 units high ensss a ohadow

.2
A 252 the lengih of which, in Lhe: some
units, is
B 2.hs2
A 2k
.C 2.552
B 27
D 2, 52
c 30 .
E 25.52
b 60



20.

(22 x18) - (47 + 33) -3

equal to

230

300

384

hof

502

Ir 6z - 3 = 15
then 6z = 15 = 3 (i)
and 6z = 12 (ii}
and r = i% {iii)
and x =2 {iv)

The error in the abowe r=asoning,
1f one exists, FIRST APPLARS in

line

(i)
(1i)
(iii)
{iv)

Honue % thesc,
there i no error.

The circele gropto sbro: tne
preooclions af variwus ron

crops pradvced Ly oLt

Wivich
ments

A che follow.t,. .0 .-

15

The

TRHE ?

Maore oats Tou o= 1n
vrodnced.

Srer Lorpent o rar Do kel

Fual gunatiives O wnoeax
anidl Larley v oo bueaad

The smale-51 Coon o5 0ls

Wliear wnd oot Coem eyl

up lens thanor AT el ton

Croin ~rog.

velu: 57 27 x 3? i3
A 30

B If

C £l

D 72

E Honke of these


https://pt�oporLir.ms

& cm

bottls, but there is a refugd
of b ecents on gach eapty Loitle.
How much will Henry hove to pay

for z tsoiles if he brings taox

wmptiaz?

8 cn 8 em

The tctal arsa £ the twc A ac ¥ by cents

triangles is

A 6 x5t B ax - by cents
fox .

B 2 7 c f@ - blz ceuts
¢ X6 2

2 D {a +2) - (b +y)  anc:

M 1
D 15 ; 1 em?

E Kone of tLhese

1=

g 2 : 12 o

%, 27,

Tae arithmotic mean (weers o)

In a school of 800 pupils,
pup of: 1.50, 2.0, 3.75

300 ere boys. The ratio of

is caual *
the number of boys to the
number of girls is A 2.ko
A 3:8 B 2.53
B 5: 8 c 3.73
c j: 1l o {05
¥ 53 E Rone af thoge



23,

A guadrilateral MUST be a
parallelopgram if it has

A one pair of udjacent sides
equal

B one pair of parallel sides

c a diegonal as axis of
symmetry

D two odlzcent angles
equal

E two pairs of parallel sides

Which of the followiec: I3 wmoot

likely to Le nesresl Lo

ey e Nk

of a noranl man?

32:

A

i)

8.5 kg
83 wg
185 ke
Bs0 kg

1850 k¢,

The length of the clrcumfarance
af the ¢ircle with center ot 0 is
2L and the lzngth of arec BT Is 4,
Whoat is the mwasure in degrees of
the central angle RO3 ?

A

2h
30
hs
60
90

One of the following poiuts
can be Soined to the point
{-3,4} Ly 2 line sermoal which
cuts HET'UHER the z UOR bhz y

nxis.

i}

b

Wlitew owe?

{"213)
(2,3}

Matchsticks are erranged as
follovws.

> 1

1>

_1_1>

If the pattern is continued,
how many matchsticks nre used
in making the l0th figure?

33,

A

30
33
36
e

L2

30 is T5% of what number?

Lo

g0
105
225

2250



Evi.35

What is the square rout of 14 the numbsr in the box
the digit 6 represents

3.

e
vh

12 x 751

1
R TS)
z 1
A 6.25 B 6 x 15
B 30 C & x 1
¢ d D 6 x 10
b 625 E & % 100
B 00

If segment Ea were drawn for each

figure shown below, it would divide

e the Tiguses into o congrent e e et

triangles. Which figurc?

Un the above scale the reading
indicated by the arrow is
Letween

A 51 and 52

B 57 and 38

c 60 and 62

D G2 and 64

P
Q Q
P
Y
p
¢ v ¢ E Oh and 66
/7
3

=



Y
"
k]
2
1
+ ; -
sk =2 - i1 "
-3 e P
Whet cvrs Foo o it
el poiont 172
A (-2,4)
B (<h,-3)
¢ (3.h)
D “i‘—j]
E ('1‘13}

The air tcwpersture
of & wnruntain is 31
top of tho mountain
{s -7 degrees.  How
the air at the foot

The table bhelow compares Ll Yeight from which

ball is dropped (d} and the height

to which it bounces {b).
d 50 ] 100 150 —]
25 ho 50 15

Which formula destribes thi: rolafian?
hY

A b=4d°
B b =24

d
C b = 3

[} b=dzr 25

E b =4~ 25

at the fo.t
drzroe~.  On
the
Ml o rTer iy

S8 rhs opoaoatddnt

b e L

A =38 degrees
I -2l depre=s
C 7 A~rrees
i 24 dearees
E 38 degrees
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POPULATICH A

INSTRUCTICHS FOR STUDENTS

-
et
2
o
[ 2}

a“

FOR QFFICIAL

USE CHLY
Country 0l-02
Study 03-ob
o ] . . Fo ' N
This is a test on different topics in Stg:ii;lon 82_07
mathematizs. a}nce it iz an }nterna§1onal School 08-10
test, you may find some questions which are Class 11-12
not familiar to you. You should not be Student Identity 13-15
discouraged by this. Please go on to other | Tnstrument 16-18
gquestions which are more familiar. Then, if Earé 19

you have time later, you may comle back to
questions which you left ocut.

On this test, three pieces of information are reguired for
question. The following examples will help you see how to
this information.

Lxample 1.

each
give

27 - 19 is equal to Mathematics needed ta
answer this questicn
@D 3 was taught!
B 12 this year
C 16 before X
D1l never
E None of these Calculator used:
yes X
no

Since 27 - 1§ = 8, the le“ter A is circled.

Suppose you were taught this before

You would place a check mark on the

Suppose you uied your calculator in
You would place an "X" on the line,

Flease turn the rage.

the present schoel jyear.

line as shown.

answering the question.
as shown.
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Please do the next example to make sure You know how to give the
required information.

Example 2.
3 x5 is equal to Mathematics needed to
answer this guestion
A 8 was taught: .
B 15 this year
c 35 before
D 3685 never -
E None of these Calculator used:
yes _—
no -

Are you using a celculatcr for thiz test?
Yes
No

If you marked "No" you may ignore the "Calculator used" gquesticn
for the individval provlems.




can be useld

cf printing

cost = (120

B cpsT = (126 + A, Tents
C cost = {& *+ 1lonm) cenna
] coat = [ 13fn) r=nt:

E sos% = {glln} cents

sohn L3 4 years older
Ellen,and zlli=n is 11
younser oz Meopisa,

is 1= How

Johnt

S years

14 years

I 19 years

2T years

than
FERTS
Monica

sld is

| | | ‘ ‘
T -t
ol ‘-L 13 5 3 |
Far the tatle shown, a1 To-omlla
that Zould relate m ap2 = @
A n=nm
B n = im
z no= o-mt o
by n=omt+l
E no=adn+ 1
3
£77
P
in Lne apove rectangle tne
measure >t L RIQ 13
& 23°
3 45"
c Le?
] cho

T



https://determiner.he

5.9 cm
1.2 cm
1.8 2o
The figure atove tS3Ww3 3 rectangyular
box whicn 327 %hne Pallawin: iz
CICSEIL Y3 tne valume o7 tnic o—oxt

3 18 -zt
c 28 or’
D 36 om?
E wd opt
Jae nad nnres

and 7L, wnil
32 and Tw. i
compare with

Joe's was 1 point nigner

imt lower

"Th

Joe's was L
Both averasges wers ohs same

Joe's was 2 points higher

3 N B o T 7 < B

Joe's was & taints lower

L)

E+

-~ -
woand  oare 93 vector

Which figure telow renresen«:

- -
a

¥ - v

[ni




Suppose you start at paint M{-1,-1},
move a distances of one unit to (-1,-2),
then turn left and rove cone unit to the
point P{0,-2). If you acain turn lelt
and move one unit, you will novw be at
the point with ¢oordinates

A {1, -2}
B (0, -3)
¢ {0, -1)
D (-1, -2)
E None of the abaove

There are 35 students in a

class. % of them ¢ome to

2
school by bus, another g

come by bicycle. How many

come to school by other means?

AT

B 1k
c 21
D 28

The figure QRST I3 a sguare and
PQT an equilateral triargle., If
FQ = 6 cm then the area of the

square is
A &b cm?
B 48 cn?
c Lo eon?
D 36 cm?
E 24 cm?

Which of the points A, 3, C, D, Z

on this number line corresponds
2

to £7
&

43 ¢ .0

L 1]

A point A
3 Foint B
c point C
D point D

E point E



AT -
L /3 B
A B
6
1 unit o= 2 o
P Q 1/8
L Lines :E and EE arc parallel,
The length of AB is 1 unit. Two angles whose measures must add up
t a
Which is the best estimate © 180° are
for the length of PQ 7 A ¢ 1and; 3
A 2 units B ( boand ; 8
B 6 units c L 2eand £ 5
C 10 units D { 2and ¢ T
D 14 units E ¢ L and ; 8
E 18 units
lll:i' - lSn
Which of these is the name of a A student's solution to the prcblem
solid figure, each of whose faces ) ;
is a square? :g x =5 g is given bvelow,
-2) 3 x5 (1
A cube 5% (-2) x 6 1
B pyramid = (-2} x 3x35 ‘e
(-2) X6 x 5 (1)
c tetrahedron = 1 x % x 1 (iii)
D hexagon = % (iv)

E cylinder
Check the student's work and
decide if there are any errors.
In whicn line-does any error
FIRST APBEAR?

A line (i}
B line {ii)
c line {1ii)
D line (iv)

E There is no error.
" The work is correct.



0% 2r 125 is eausl =z N
equal to
A 6.2%
A L
] 12.%0

)
il

ts

Yau wish to know whether SLOSH i3 -co

most popular soft-dring in

The wav o0 Zinding out, frarw .mans thoe

foliowing, whtoh will gilve resuics vou
- can pe ost sure of, will bhe rto

4
Pin
\» 74

P = A nite the number F empmey JLIIE
14 =

= TSR

3 In the Lrash -ans,

3 ask tpe managser of
Low many cases of 3
¥ ordered in tne last

ask vour friends whether thew think
that 5LOSHis the most popular
scfo-drink,

PARS i3 2 I<s image after
a Lransisroat: i3 the rectang.#

P'Q'R'3', az shown above. The trans-

formetion uvsed could nave besn -

-4

igin

]

A 8 rotation about the
B a reflectisn in the y-ax13 -

C a trans.ation parallel to
the r-axis

D a reflection in the r-axis

a wrapslaticn farallel to
the Y-aX13.

[






Whaet is the ares =7 +npe above

paralle_ogzran?
A 10 cm?
o 36 am?
C 48 cm’
D 80 cm?
o 80 am®

2, 28,

1054
-365

A 189
B 193
c 211
D 289
E 299

N\

Two OF 4ne:ze wrisngles ars s:inilar.
They are

A P and R
B P and 5

[ R and =2

which one 27 =hne Ifllowing dlagricms
{llustrates the s-atement, Set S
-

ig & subset ol set




o
L

I po unlﬁ

i
|-

31,

A millimeters
B centimeters
C decimeters
L mELRLS

E wilmeters

3.

Which of the following is equal to

a gquarter of a million?

A 25,250

a kg,030

h,n0d,320

D 250,307

E 2,500,000

I& 3 {3 wne z== o7

r=cecriinats Creal

T i3 the sev 27 I3

g~csardinanse Jgrean hlet
cf the Jsllowing o

both sets?

E Ty
C L2, 4)
D fh,u)
E L2,

32,
Whizn equaticn 13 trus Sor ALL

ralues of n?7

A o4 =+ 2
B T+ =4+ 2
C n+ 1 =1

o M+ 1 =24

z n+ 3= 3In

Inres strai
B3 ENOWN
is T ejua

[
at
Q

a

A 33

D 110

E 150



LEA(MA (HS-NZ /4,26y
Revised Wellington, January 19%0

Second International Mathematics Study

Deuxiéme Etude Internationale en Mathématiques

KNOWLEDGE OF MATHEMATICS

BUCKLET

IeEST FoRM B

PoPULATION A

DRCSS-SECTIONAL PHASE JANUARY 1880


https://JANU6.RY



https://e::~a.m,::.es
https://im.err.a-c:.or

A/269

FOR ZFFIZIAL

USE InLY

r.2ase 40 Lhe next e2XamMFl: 77 TAKE 5Ure IU Know how n3 Zive tne
r23uired information. |
I
Example 2.
3 x 5 15 =qual to Mathematizs needed to |
answer tnis question |
A ! w25 “aught
8 15 this year
C 35 tefore
oS naver
£ None of these Calculator used:
7es -
no

Are you using 3 calcuwlator for this tes+”

fes

.
R1el

I you marked "No' ycu may ignore the "Calculator Lzed” juestiosn !
“tr the individual problems. '









T

"y
= X
2
= ox
= =
ey
= &

A

~ TOLRT ran

]
I

=X2ITl, T minutes.

ipesz
Ter seccnd’
A 3.7

=)

L2 ¥)

[=1
[N
hF)
]

- -t LErSemer

kel

r
a
w
i
o
.
9]

J







.'l:

';-\

E]

=2 2

33

:: T S R T
BEE! BN
1z 3 L35 5 20l Ll L

in Tne . rainfall ertime=a

L3 DLt
wean.y ra.nt
SETTIEImMAT R

3 -

-

-
-

_3 weeds,
iaring

o P olentimeners

a

A Lquare

rectangle as snown.
the arez 9f the remalning part?t

A

[§3)

r

is

LI
]

i,

2]

reccved from ne

What .z

El

|

Ty

3]

[}

tu

o}







Earlville

Anabia Dergen Thase

The JARV1s Tamily

A b Anabru througn 3e
whan drove “ack <

- Earlville, and ==

= = home in Anapru.
- they drcve was 1.
. is it from Anabru
b =
A 20 kilzmeters
- -7 B 35 kilometers
z w) kKiometers
z Hore 7 1 nze
D 75 kilometers
E 20 kilometers
2. 3.
D.300«€ is sjual Lo
A ok 1073
N N b The measure of the angle snown
= - .
= Heboxosy ig nearest ra:
~  D.ag v 107 A LREs
.:..‘ _'“‘:
- -
2 S0 2 Lo . N
T 46 x 1c’ : B

rr
n



dere 15 a tacle T 2atd ani 2 J£rarg
sf “he same 3ati. Akhat i X0
Sumber of Cars I Fresuensy

Joar L .

2 or i X

- zr ¢ h

5 ozr T N

Frequency ~
e
]
:-3 & p_-

1=l

w=3

Jumber - oars

.

3 3

P(3,1)

Ir o..e Ziigram,
i3 the
gre

gram,
of goint ¢
pcmnt B oare
soerdinates

A e
3

¥

Loy}
5

(L]
1Y)

3 1 parailels-
1zordinates
fose aof

32.

4 X¥2 1z A srriangle :
AL tut with side Y2 LI am
zde X2 3 ;o long, now long

-n
3 3 ocm
> £ oom
) S oom
E # Cm
ke set 2f integers lesz “nan ?
+% represented an one 37 <ka
nazber Lines snown relaw “nicn
2ne?
A oo o —
==l o1 o o3 o, o= .
3 ep—t—g—s - -
e N T S T T
-l 01z oy N o5 4
IR T B A
-1 0 1 2 3 . g5 g
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INSTRUCTICNE

POPULATION A

FOR STUDENRTS

This is a test on different t2pics in

metnematics,

Since it

is an international

test, you may find some aquestions which are
.ot familiar to you.
discouraged ty this.

questions which are more familiar.

You should net be
Plegse go on to other

you have time later, you may ccme back to
suestions which you left cut.

Jn this test, three pieces of information are reguired for
The following examples will help you see how to

suestion.
chis information.

4
4

fr
Fad
5
=
i

-
L

1%
-1
]

e -
(o AT I

f—
[ 4]

&3] i (9] m @
LR

.3 is equal to

Since 27 - 19 = 8, the letter A is circled.

A/270

FOR OFFICIAL

Then, if

USE 2JNLY

Jountry Ql-22

Study 03-0U
Population 05

Stratum 06-07

School 08-10
Class 11-12
Student Tdentity 13-15
Instrument 16-18

Card 19

each
give

Mathematics
answer this
was taught:

this year
Lefore

nayar

needed to
question

Jaleoulator
VRS

noe

Suppese you were taught this before the present school year.

You would place an "X" on the line as shown.

Surpose you used ycur calculator in answering the question.

You would place an

Please turn the page.

"¥'" on thne line, as shown.




FOR OFFICIAL

Population A - Instructions
Page 2

|
|
|
]
|
. USE ONLY
|
|
|
|

Please do the next example to make sure ycu know how to give the
required informaticn.
Example 2.
3 x 5 is equal to Mathematlcs needed to
answer this question
A 8 was taught:
B 15 this year
c 35 before
D 385 never
E None of thege Calculator used:
yes
no

Are you using a calculator for this test?
Yes

No

If you marked "No" you may ignore the "Calculator used” question
for the individusl problems.







9.

1.

wWhich of the following is

3

I

TRLE?

II

-

which
is TRUE?

:drresponcing engles

MUST “e¢ sIrngruert.
Thelr zirresponding sides
MUST te -crngruent.

r.rresponding siies
MUST 5= gparsllel

o2y MUST have <he same ares
Tney MUST nave wne same zhape
and zize

are!

"53RTIF ¢ 1T = 53 o« (TIXLTY

133 % L7B+B9 = L33¢TEY « A
133 % 178+ = 13273 + 1 133x43)

I znly
Il only
TTT

anly
[ and II zn.y

¢ and I3T zZoly

The length of a box wag measured
and found to be § centimeters I0

THE NEAREST CENTIMELER.

Which of

tnese could have been the length of
the boX measured mMOre AZCUrALely.

a1l

L]

[

10 em
.9 cm

.62 cm

10.

[ -
- -

There ars 7,300,000 giris under the age

2t 2l

‘ation of 36,000,200, If a ri

ir

sraph were Arawn snowing the i
zf the population, the angle in
sector represanting girls under
ol 21 would have measutre

A 7

B 20°

I Z1e

D Tio®

£ T2°

_p q i:sc:s-throving Cmpes
T WLIning throw wax o7 A

=

Zeccnd tlace “hArsw vas
Hiw onucn

i _Inser was
SASTW TnEn tna o cesana

A ~.12 meters

B 1.5% meters

Z 1.97 meters

z z.12 mevars

z 121.32 zeters

in & country with a total Copu-

ibuticn
e
& Age




L]

(U]

& > -
-1
® ey LRI
[ BN
EXY-
e

Y

yrz=h

L

— is5 egual

[

[

o

14,

The Eet
cinds W
results

als n 150 flowers
ere carefully scunt
are Inown in this

[ ]

| g
m
n
AT

How man
tharn 13

P4
Lo-28 “+
_3=Z1 L

S2=2h

v of the {lowers nad

retals?
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POPULATION A

INSTRUCTICNS rCR STUDENTS

This iz a test on different topics in
matnematics. Since it is an interpnatrional
test, you may find some questions which are
not familiar to you. You should not be
discouraged by this. Plemse go on to other
Juestions whizh are more familiar.
you have time later, you may come tack to
guestions which you left out.

Af2

71

Then, if

FOR OIFRTITILL
SZToLulLe
country Jl-22
Study D3-T4%
Population Cs ——‘—T
Stratum 76-07
School 28-10
Class 11-12
Student Identity I 13-15
Instrument | le-13
Card l 19
|

in this test, three pileces of informarion are required for each

question,

this information.

Example l.

(A%
—)
)

13 is egual to

® s
B 12
ool
18

lione of these

(]

u)

trl

Since 27 - 19 = 8, the letter A is circled.

The following examples will help you see how to give

Mathematics needed to
answer this gquestion
was taught:

this year

pefore Z

never

Calzulator used:

no

Suprose you were taught this before the present school year,

You would place an "X" on ¢he line as shown,

Surpese you used your calculator in answering the question.

You would place an "X" orn thne line, as shown.

Please turn the page.

¥es X




Population A - Instructions
Page 2

Please do the next example to make sure ycu know how to give the

regquired informarion.

Example 2
3 x5 is equal to
A 8
B 15
C 35
D 385
E None of these

Are you using a calculator for this test?

Yes

No

Mathematics needed to
answer this question
was taught:

this year
before
never

Calculator uged:

yes

no

If you marked "No" you may ignore the "Calculator used” guestion

for the individual problems,

a/271

FCR OFFICIAL

USE ONLY
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I AB Is a straignt line, what is
the measure in degrees af angle BCT 7

A z0
3 Ltel
LOVa Shows3 2 woolan
g 2zrmer ogt I8 oand - g0
ixh o the Iollowing
W3 noW TaiE ocube weonld - 8a
eyed Jrom directily atove
E 120
A
3
31
“he speed :f sound is approximately
- ' J«3 meters per secand, How long wil:
it ta2«4e bafore the sound of a rar raren
reaches your ears {f the 2ar i3 Tle
meters away?
A C0.21 seconds
J
E 2.1 seconds
[ 21 seconds
ol 217 seconds

None rf thege
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Lot
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13

5]

¥y

b
5]

o 13 weeks 1 day

o 13 weeks ¢ devs
\
A

z _% weeks 11 daysz

are 300 celories in 102

egqual T2 a2 certain food, hew many

arez =here in a 30 gram

rortion of that food?

L
. -
A 30
5 =
= it
Vel 5
- -
= 320
- 5
2 sy}
.
T.e
= [Tl
- Lt
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" A group of children was divided {nto 7 teams 15, 2
with nine in each team. Later, the same group of : .
children was divided into teams with seven in each 2 -3 ejqual to
team. How many teams were thaeve then? -
. - 4 i
29 | -
, . =
k] 3 iz
SR R
- £
s eE } 35
31
£ 53 - kS

16.

) ‘ - ) os=ld i i
e bl rings evers 3 N ~ 55lid plestis cube ¥ith edges

& second tell rings every 12 oy mener long weighs 1 e

e ey e - 0w muzn will & serid cube of the
5a0e rlastia weigh if each edge is

2 centimeters long?

“ogether?

A ? grams
A 8

E L grems
b} 12

z i grams
[ 20

< < grams
D 24

E ~ gram

]
L
(39
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A shopkeeper kas
He sells 15 kg and then recejves a

what weight

new Iov wveighing 2y kg.

2f tes does ne nov

33.

[

H

AN L]

(ol

W

I
%]
S

- 2y

nave?

None cf these

Use this graph to answer

questions 33 and 34,

x kg of tea ir 3tock.

Kilometers

Car B

L

Distmnce in

Three hours after starting, car A
is how many kilometers ahead of

car B?
A 2
B 10
c 13
e 20
E 23

Time in Hours

2

3

3

ry

4 7T zan ce rotated ‘turned|
4 33R. The center a° rotarisng

A poiny
3 paint
z point
o soint
= raint

LG5 ]

v 3

n-o
3

Hf

How much longer does it take for
-~ - - ) N
“ar B to go 33 kilometers thap

it does for

A .

fiy

Tar A Lo go S0 kilometers~
hour 1% rinyusas

nour 30 nmipuges

nours

hours 3> Flnutes

ours 1% minuctes





